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Draw diagrams wherever necessary

MULTIPLE CHOICE QUESTIONS 15
The relationship between agricultural sector and industrial sector is
(A) Complementary (B) mutually exclusive (C) competitive (D) no

relation
The business activity creates

(A) Goods and services (B) profit and loss

(C) Investment and saving (D) Backward linkages and forward linkages
Which sector can be identified with capitalism

(A)Public sector (B) Joint sector (C) Private sector (D) Co-operative sector

Which state stands highest in sugar production?

(A)UP (B) Mabharashfra (C) Gujarat (D) none of these.
When was the first industrial policy introduced?

(A) 1855 (B) 1948 (C) 1956 (D) 1961
When was Tata iron and steel company formed?

(A)1907 (B) 1919 (C) 1923 (D) 1973
Which one of following is an Agro based industry

(A) Cement industry (B) steel

(C) Cotton textile industry (D) diamond
Iron and steel industry is an example of which type of industry?

(A) Basic industries (B) Consumer indusiries

(B) Co-operative industries (D) Joint-sector industries
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¢ Mindustan Acronautics Limited’ is a

(A)Private sector industry (B) Public sector industry

(C) Joint sector industry (D) Co-operative sector industry

The following is also known as * sunrise industry’.

(A)Iron and steel industry (B) Cotton textile

(C) Information technology (D) All of the above
Apex society means ___level society

(A) National ~ (B) state  (C) District (D) Village
The president of a Co-operative society is - .

(A) Owner (B) Employees (C) Officer (D) Adviser
Liberalization meang

The main advantage of small scale and cottage industries in India is that:
(A) Cost of production is low
(B) They require small capital investment
(C) They advance the goal of equitable distribution of wealth
(D) They generate a large volume of employment
Globalization is the term used to describe process of removal of restriction on
(A)Foreign Trade (B) Investment
(C) Both (A) and (B) : (D) None of the above

" Discuss various' factois contiibutifig to - the location a plant

OR

Cotton and textile industry play an important role in Indian economy —Explain.

Explain the relationship between industrial sector and agricultural sector
OR

Impact of liberalization and privatization on small scale industries sector.

Write short notes (Any Two)

Features of public sector

Agro based industries

Importance of industrial sector

Briefly discuss on Joint sector
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